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Foundation Worksheet

Solving Inequations

Class:

kName:
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4 3 2 0 1
(Empty circle as x #—2.)

Examples The rules for inequations are the same as for equations,
except you must reverse the inequality sign if you
multiply or divide by a negative. Note: 5 < 7 but -5 > 7.
1 Solve.
a a+7<15 b 2 =2 ¢ 5c-7<23 d 8-3d =50
wa <8 Ch=-12 5¢ < 30 —3d =42
(+5) (+3) (+-3) (-3
L c<b6 sod =14
2 Show on a number line.
a x>—2 b y=3
(Show the numbers more than —2.) (Show the numbers less than or equal to 3.)
o @

¢ T T T 7 1

-1 0 1 2 3
(Filled circle as y could be 3.)

1 Show on a number line.

a x>3 b x=2
d x=-4 e m=0
g m=-3 hm>1
j y>-1 k y<0
2 Solve.
a x+3>5 b m—-2=6
d y—-4=1 e a+5>12
g 6t>-12 h 2c=-10
| 0 K X =7
3 7
m 2y+5=17 n 3k—7>20
p —4y+5>-15 q 7-14f<35
s 2(3—a) <14 t 4B3x+7)=-38
v 18 = —4x w 83w <-4
Answers can be found in the Interactive Student CD.
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¢ x<-1
fm<>5
i y=4
I y=6

n+7<4
f 3a<<12
i -3f=3
| c~12>2

3

o Sx+3=-17
r t+4>-4
u 5x—7 =38

x 32p-9) <18
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8:06 Solving Inequations

-4 -3 -2 -1 0 1 2 -1 0o 1 2 3 o 1 2 3 4 5
g @ h o—> i —
-5 -4 -3 -2 -1 0 2 -1 0 1 2.3 o0 1t 2 3 4 5
: i O k O I o —B
3 -2 -1 0 1 2 2 -1 0 1 2 3 o 1 2 3 4 5
2ax>2 b m= c n<-3 d y=5 e a>—3 f a<4
‘ g t>—2 h c=-5 i f=-1 i oq<-9 k x=49 | c>18
my=06 n k>9 o x=-4 p y<5 q f>-2 rot>-16
s a=—4 t x=-3 u x=<9 v x=-45 wow>4 x p<T75

1 a O————‘——" b B Y —8
-1 0 1 2 3 4 5 2 -1 0 1 2 3 -3




